PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO./ARTICLE NO./ARTICULONO: P293270
DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: UPH Side Chair 2/ctn / Chaise d'appoint 2 piéces / Silla 2 unids.

m

®

x1 O_S:.wunw vw x1 Seat Cushion K x2 Front Leg E S
x1 Dossier de nrm_w,a x1 Coussin de siége x2 Patte avant
x1 Respaldo de lasilla x1 cojin del asiento x2 Pata delantera

L

x2 Allen bolt @5/16"*2" * x4 Allen bolt @5/16"*3" vw x10 Lock washer @5/16" *@12%3mm 3K
x2 Vis a téte creuse hexagonale @5/16"*2" x4 Vis 4 téte creuse hexagonale @5/16"*3" x10 Rondelle de blocage @5/16" *@12*3mm
x2 Perno Allen @5/16"*2" x4 Perno Allen @5/16"*3"

x10 Arandela de Seguridad @5/16" *@12*3mm

T—

O, ®

=
©

x10 Flat Washer @5/16"x19x2mm v_n x4 @5/16"*12 2:. vW x1 12mm Open Wrench *
x10 Rondelle plate @5/16"x19x2mm x4 05/16"*12 Ecrou x1 12mm CI¢ a fourche
x10 Arandela plana @5/16"x19x2mm x4 ©5/16"*12 Tuerca x1 12mm Llave de boca
*Replaceable Part
Page 1 of 3 Residential Use Only Made in VietNam/ Fabriqué au VietNam/ Hecho en VietNam

For assembly instruction video, please go to: WWW.myfumitureinstructions.com



ASSEMBLY INSTRUCTIONS/ NOTICE DE MONTAGE/ INSTRUCCIONES DE MONTAJE
ITEM NO./ARTICLE NO./ARTICULONO: P293270
DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: UPH Side Chair 2/ctn / Chaise d'appoint 2 piéces / Silla 2 unids.

*Replaceable Part

Page 2 of 3 Residential Use Only Made in VietNam/ Fabriqué au VietNam/ Hecho en VietNam
For assembly instruction video, please go to: WWW.myfumitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM NO./ARTICLE NO./ARTICULONO: P293270

DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: UPH Side Chair 2/ctn / Chaise d'appoint 2 piéces / Silla 2 unids.

RP293270 BACK 3K

x1 Chair Back with Cushion
x1 Dossier de chaise

x1 Respaldo de silla

RP293270-HWKIT K

x1 Hardware Kit

x1 Liste des pi¢ces de quincaillerie
x1 Lista de materiales

RP293270-FRAME 3% RP293270 LEG %
x1 Seat frame with Cushion x2 Front Leg

x1 Coté du cadre x2 Patte avant

x1 Armazon lateral x2 Pata delantera

RC-WH-NAIL ¥
x4 Plastic Nail

x4 Clou
x4 Clavo

*Replaccable Part

Page 3 of 3

Residential Use Only

Made in VietNam/ Fabriqué au VietNam/ Hecho en VietNam
For assembly instruction video, please go to: WWW.myfumitureinstructions.com



